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[2 PTS] Find the vertex and axis of symmetry of f(’c) = x2 = I ANSWER: vertex: CZ—} -6 )
s :
(= - o 4 =4

Ja ) axis: o

e - z‘;téor’z.m—*)z = b

|

[2 PTS] [a] The graph of f(x) = x° is shown below [b] The graph of f(x) = X" is shown below
with the points (1, 1) and (=1, 1) highlighted. with the points (1,1) and (=1, —1) highlighted.
On the same grid, sketch the graph of f(x) = x*. On the same grid, sketch the graph of f(x) = x° .
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[4 PTS] (x=5) and (x+4) are factors of f(x) = x* —4x’ —15x% + 58x — 40, ANSWER: S 22

Using that information and synthetic division, find all real zeros of [ . e
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[2 PTS] Write the vertex form of the equation of the quadratic function that has vertex (-3,5) ANSWER: f(ﬂ)’ 1 (Y*:{D i b
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and whose graph passes through the point (—1, 2).
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ADDITIONAL QUESTIONS ON THE OTHER SIDE »




[3 PTS] Sketch the graph of the function f'(x) = x(x +3)°(2 - x)* as shown in lecture. ANSWER:
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[3 PTS] Divide f(x) =3x+2x> —9—8x% by d(x)=x*+1. ANSWER: 2% -~ N

Write your final answer in the form g(x) + ;
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[4 PTS] A rancher has 84 feet of fencing to enclose two adjacent rectangular corrals (see figure on the right).
J‘
[a] Write the total (combined) enclosed area of the corrals as a function of Xx . ANSWER: qux £ %: X
(Your final answer must NOT involve y ) \U i i
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(b] Find the dimensions of each corral ANSWER: X e e [%t
that will produce the maximum enclosed area. \oad i _,_)_ i
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